Mathematics Grade 3
2-Step word problems

Fill in the blanks

1. An adult ticket costs $20.35. It costs $12.40 more than a child ticket.

Mrs. Johnson bought an adult ticket and a child ticket. How much did she
pay for the two tickets?

What does a child ticket cost?

$20.35
e $20.35 - $12.40

3

A child ticket costs $

hild tick
child ticket [l ) Add an adult ticket of $20.35 + a child
ticket of $7.95

The answer is:

Shepaid § . for the two tickets.

2. Janice and Annie earn $71 altogether. They spend $20.05 each.

How much money do they have left?

They have $ . left.

3. A pen holder costs $9.20. A fridge magnet costs $3.15 less. Marco wants
to buy both the items. How much does the 2 items cost together?

The two items costs $
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